
www.mounts.com  |  North America  800.368.9700  | International +1-714-632-7100
1321 S. State College Blvd., Fullerton, CA 92831 USA

1 2

3

 Installation Guide
PP-HDFCP

Ceiling Plate 1/4” x 3” Eye 
Lag Screw

M6 x 2.4 Eye 
Lag Anchors

Griplock Gripper Hole Saw Escutcheon Ring M5 x 6 mm
 Set Screw

M2.5 Allen Key

Wood Stud Truss CeilingSolid Surface

Cable Wires

x1 x4x4 x4 x4 x1 x1 x1 x1

Tighten the four (4) pre-installed M5 x 16 screws

1/4” x 3”Eye 
Lag Screw

M6 x 2.4 Eye 
Lag Anchors

DARWEEN
Touchboards_stamp

http://www.touchboards.com/


www.mounts.com  |  North America  800.368.9700  | International +1-714-632-7100
1321 S. State College Blvd., Fullerton, CA 92831 USA 9530-000-012-0X Rev.0

Installation Guide
PP-HDFCP

Ceiling Tile

Hole Saw

Escutcheon Ring

Drill

Cutting the Access HoleLateral Shift Adjustment

Optional Pipe

Tighten the M5 x6 Set Screws using a M2.5 Allen Key.

Loosen the four (4) M6 Nylon Lock Nut to make adjustments. 


